SAE jE=##L
GFS SAE Hj:k=#£:L(1S06162-1/-2) — EO 24° &=
L3
*'—‘* s1
j\ s2
s 2 T - — |
Q . Q ]
S I @ -
— ;'/ — an
\ S
L4 =
[a]
L2 8
L1
3000 PSI %71
SEZR D1 2 = TR (bar)
SAE | ISO (BRHN)
(in) (ON) []| D3 | D4 | L1 | L2 | L3 | L4 | S1 | S2 (2 ) (ZEHI) T/ TS CF | 71
1/2 13 [15L |12.0(30.2[48.0 |41.0| 6.7 [56.0| 24 | 27 | M 8x25 |5/16x11/4| 0.36 |GFS32/15L 315 | 315
1/2 13 |16S |12.0(30.2|50.0 |41.5| 6.7 [60.0| 24 | 30 | M 8x25 |5/16x11/4| 0.40 |GFS32/16S 350 | 350
1/2 13 |18L |14.0(30.2|50.0 |425| 6.7 [61.0| 19 | 32 | M 8x25 |5/16x11/4| 042 |GFS32/18L 315 | 315
3/4 19 |16S |12.0(38.1|55.0 |46.5| 6.7 [64.5| 27 | 30 | M10x30 | 3/8x11/4| 0.52 |GFS33/16S 350 | 350
3/4 19 |[18L |17.0(38.1|53.0|455| 6.7 [62.0| 30 | 32 | M10x30 | 3/8x11/4| 0.59 |GFS33/18L 315 | 315
3/4 19 [22L |19.0(38.1|53.0|455| 6.7 [62.0| 30 | 36 | M10x30 | 3/8x11/4| 0.59 |GFS33/22L 160 | 160
3/4 19 |28L |19.0(38.1|55.0|41.0| 6.7 [64.0| 32 | 41 | M10x30 | 3/8x11/4| 0.60 |GFS33/28L 160 | 160
3/4 19 |20S |17.0(38.1|57.0 |46.5| 6.7 [68.0| 30 | 36 | M10x30 | 3/8x11/4| 0.65 |GFS33/20S 350 | 350
3/4 19 |25S |17.0(38.1|57.0 |45.0| 6.7 [69.0| 30 | 46 | M10x30 | 3/8x11/4| 0.78 |GFS33/258 350 | 350
1 25 |20S |25.0[44.5|60.0(48.5| 80 |71.0| 32 | 36 | M10x30 | 3/8x11/4| 0.70 |GFS34/20S 350 | 350
1 25 |28L |24.0 (44.5|54.0|46.5| 8.0 |63.0| 36 | 41 | M10x30 | 3/8x11/4| 0.73 |GFS34/28L 160 | 160
1 25 |25S |20.0 [44.5|58.046.5| 8.0 |60.0| 36 | 46 | M10x30 | 3/8x11/4| 0.84 |GFS34/25S 350 | 350
1 25 |30S |24.0[44.5|63.0(49.5| 80 |76.0| 36 | 50 | M10x30 | 3/8x11/4| 094 |GFS34/30S 250 | 250
1 25 |42L |24.0(445|76.0|65.0| 8.0 |87.5| 41 | 60 | M10x30 | 3/8x11/4| 095 |GFS34/42L 160 | 160
11/4 32 |35L [32.0[50.8|58.0(47.5| 8.0 |69.0| 41 | 50 | M10x35 —| 096 |GFS35/35L/10 | 160 | 160
11/4 32 |25S [27.0|50.8|60.0[48.0| 8.0 |720| 41 | 46 | M10x35 —| 111 |GFS35/255/10 | 200 | 200
11/4 32 |30S |285(50.8|62.0(48.5| 80 |750]| 41 | 50 | M10x35 —| 1.13 |GFS35/30S/10 | 200 | 200
11/4 32 |38S |28.0(50.8|66.0|50.0| 80 |81.0| 46 | 60 | M10x35 —| 1.36 |GFS35/38S/10 | 200 | 200
11/4 32 |28L |23.0(50.8|60.0(525|80 |67.0| 36 | 41 | M12x40 |7/16x11/2| 1.12 |GFS35/28L 160 | 160
11/4 32 |35L [32.0[50.8|58.0(47.5| 8.0 |69.0| 41 | 50 | M12x40 |7/16x11/2| 1.02 |GFS35/35L 160 | 160
11/4 32 |25S |27.0(50.8|60.0(48.0| 8.0 |72.0| 41 | 46 | M12x40 |7/16x11/2| 117 |GFS35/25S 200 | 200
11/4 32 |30S |285(50.8|62.0(48.5| 80 |750| 41 | 50 | M12x40 |7/16x11/2| 120 |GFS35/30S 200 | 200
11/4 32 |38S |28.0(50.8|66.0|50.0| 80 |81.0| 46 | 60 | M12x40 |7/16x11/2| 1.41 |GFS35/38S 200 | 200
11/2 38 |35L [30.0(60.3|65.0(54.5|80 |76.0| 46 | 50 | M12x35 | 1/2x11/2| 1.20 |GFS36/35L 160 | 160
11/2 38 |42L [36.0[60.3|64.0(53.0| 8.0 |76.0| 46 | 60 | M12x35 | 1/2x11/2| 1.36 |GFS36/42L 160 | 160
11/2 38 |38S [32.0(60.3|70.0|54.0| 8.0 |850| 46 | 60 | M12x35 | 1/2x11/2| 1.63 |GFS36/38S 200 | 200
XERTLEBERE, URITHEEEZZSTEAETHME, BERH3,
“TEARE R AL IR B AR RIS
ITHRSR%
[ZE ) FEALE w5l w5l Encll FREEE R
Rwrst k=3 aEMEREZ, aENMEREE,
AR R ORE £l RORE
RN, FooNineRiEsE CF GFS32/16SCFX GFS32/16SOMDCF | GFS32/16SOMDCFU NBR
TN 71 GFS32/16S71X GFS32/16SOMD71 GFS32/16SOMD71U VIT
H13 FEmtEZR 4100/CH



